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- P()) = 0.
C RFELRDIEH 1 P(A°) =1 — P(A).
HEROHFINE : AC B 5IX P(A) < P(B).
- P(AUB) = P(A) + P(B) — P(ANB).
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[2] FR A B,CHP(B)=0, P(C)=1%2MA7=7 & ERERYE,
(1) P(AU B) = P(A)
(2) P(ANC) = P(A)
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Q={0.1}, F={0.{0y, {119}, P@O)=0, PO} =P{1}) =5 P(Q) =1

THEZO6N5, 72720, HARLOIFZENENHEDOR L ENE LR ITHIGLTWD,
TN ->T, KAMERp € (0,1), HPMEELRL—p THL XS LMEZ 1 KT 5617
(2SS B R 2 ) 2 BARIIZE 1T,

2 pr>0(1<k<6), o m=12F53, k=12, 6L THERLp, Tk
DHBHZ LS BV A aurbsbedsb, 2OV a0z 1 EES2RTISHIET 2R
ZRIZED I IITERI NS A, (HF : BRI 2§ R TE S HTBZEIIRN,)



